
HW
TM

HW | HARDWARE
155



U.S. Patent No. 8,418,425 & other patents pending

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Part # Description Weight
MT-HW-BS-0200-GR8-132 5/8-11 x 2" Hex Bolt Set 

(Bolt, Nut, 2x Washer)
0.35lbs (0.16kg)

MT-HW-BS-0250-GR8-132 5/8-11 x 2.5"  Hex Bolt Set 
(Bolt, Nut, 2x Washer) 

0.40lbs (0.18kg)

Grade 8 Hardware

MT-HW-BT-HEX-HEX-GR8-0100-132 5/8-11 Hex Bolt, 1" 2.35oz (0.066kg)

MT-HW-BT-HEX-HEX-GR8-0125-132 5/8-11 Hex Bolt, 1.25" 2.65oz (0.075kg)

MT-HW-BT-HEX-HEX-GR8-0150-132 5/8-11 Hex Bolt, 1.5" 2.95oz (0.083kg)

MT-HW-BT-HEX-HEX-GR8-0175-132 5/8-11 Hex Bolt, 1.75" 3.15oz (0.089kg)

MT-HW-BT-HEX-HEX-GR8-0200-132 5/8-11 Hex Bolt, 2" 3.50oz (0.099kg)

MT-HW-BT-HEX-HEX-GR8-0250-132 5/8-11 Hex Bolt, 2.5" 4.30oz (0.121kg)

MT-HW-BT-HEX-HEX-GR8-0300-132 5/8-11 Hex Bolt, 3" 4.85oz (0.137kg)

MT-HW-BT-HEX-HEX-GR8-0350-132 5/8-11 Hex Bolt, 3.5" 5.60oz (0.158kg)

MT-HW-BT-HEX-HEX-GR8-0400-132 5/8-11 Hex Bolt, 4" 6.30oz (0.178kg)

MT-HW-BT-HEX-HEX-GR8-0450-132 5/8-11 Hex Bolt, 4.5" 6.95oz (0.197kg)

MT-HW-BT-HEX-HEX-GR8-0500-132 5/8-11 Hex Bolt, 5" 7.60oz (0.215kg)

MT-HW-BT-HEX-HEX-GR8-0550-132 5/8-11 Hex Bolt, 5.5" 8.35oz (0.236kg)

MT-HW-BT-HEX-HEX-GR8-0600-132 5/8-11 Hex Bolt, 6" 9.05oz (0.256kg)

MT-HW-BT-HEX-HEX-GR8-0650-132 5/8-11 Hex Bolt, 6.5" 9.70oz (0.274kg)

MT-HW-BT-HEX-HEX-GR8-0700-132 5/8-11 Hex Bolt, 7" 10.25oz (0.290kg)

MT-HW-BT-HEX-HEX-GR8-0750-132 5/8-11 Hex Bolt, 7.5" 10.95oz (0.310kg)

MT-HW-BT-HEX-HEX-GR8-0800-132 5/8-11 Hex Bolt, 8" 11.70oz (0.331kg)

MT-HW-WA-G-0013-0050-1300-
GR8-SAE

5/8 SAE Washer 0.02lbs (0.009kg)

MT-HW-NT-HEX-HEX-GR8-132 5/8-11 Nut 0.07lbs (0.03kg)

156



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL
Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Part # Description Weight
MT-HW-BT-HEX-HEX-GR8-0100-128 1/2-13 Hex Bolt, 1" 1.30oz (0.036kg)

MT-HW-BT-HEX-HEX-GR8-0125-128 1/2-13 Hex Bolt, 1.25" 1.50oz (0.042kg)

MT-HW-BT-HEX-HEX-GR8-0150-128 1/2-13 Hex Bolt, 1.5" 1.70oz (0.048kg)

MT-HW-BT-HEX-HEX-GR8-0175-128 1/2-13 Hex Bolt, 1.75" 1.85oz (0.052kg)

MT-HW-BT-HEX-HEX-GR8-0200-128 1/2-13 Hex Bolt, 2" 2.15oz (0.060kg)

MT-HW-BT-HEX-HEX-GR8-0250-128 1/2-13 Hex Bolt, 2.5" 2.60oz (0.073kg)

MT-HW-BT-HEX-HEX-GR8-0300-128 1/2-13 Hex Bolt, 3" 3.00oz (0.085kg)

MT-HW-BT-HEX-HEX-GR8-0350-128 1/2-13 Hex Bolt, 3.5" 3.45oz (0.097kg)

MT-HW-BT-HEX-HEX-GR8-0400-128 1/2-13 Hex Bolt, 4" 3.90oz (0.110kg)

MT-HW-BT-HEX-HEX-GR8-0450-128 1/2-13 Hex Bolt, 4.5" 4.35oz (0.123kg)

MT-HW-BT-HEX-HEX-GR8-0500-128 1/2-13 Hex Bolt, 5" 4.75oz (0.134kg)

MT-HW-BT-HEX-HEX-GR8-0550-128 1/2-13 Hex Bolt, 5.5" 5.15oz (0.146kg)

MT-HW-BT-HEX-HEX-GR8-0600-128 1/2-13 Hex Bolt, 6" 5.60oz (0.158kg)

MT-HW-BT-HEX-HEX-GR8-0650-128 1/2-13 Hex Bolt, 6.5" 6.00oz (0.170kg)

MT-HW-BT-HEX-HEX-GR8-0700-128 1/2-13 Hex Bolt, 7" 6.30oz (0.178kg)

MT-HW-BT-HEX-HEX-GR8-0750-128 1/2-13 Hex Bolt, 7.5" 6.85oz (0.194kg)

MT-HW-BT-HEX-HEX-GR8-0800-128 1/2-13 Hex Bolt, 8" 7.30oz (0.206kg)

MT-HW-WA-G-0013-0050-0106-GR8-SAE 1/2 SAE Washer 0.35oz (0.009kg)

MT-HW-NT-HEX-HEX-GR8-128 1/2-13 Nut 1.15oz (0.032kg)

Grade 8 Hardware



TM

U.S. Patent No. 8,418,425 & other patents pending

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Part # Description Weight

MT-HW-BT-TPD-ALN-BLO-0100-132 5/8-11 Tapered Head Socket Screw, 1" 1.53oz (0.043kg)

MT-HW-BT-TPD-ALN-BLO-0125-132 5/8-11 Tapered Head Socket Screw, 1.25" 1.80oz (0.051kg)

MT-HW-BT-TPD-ALN-BLO-0150-132 5/8-11 Tapered Head Socket Screw, 1.5" 2.10oz (0.059kg)

MT-HW-BT-TPD-ALN-BLO-0175-132 5/8-11 Tapered Head Socket Screw, 1.75" 2.35oz (0.066kg)

MT-HW-BT-TPD-ALN-BLO-0200-132 5/8-11 Tapered Head Socket Screw, 2" 2.65oz (0.075kg)

MT-HW-BT-TPD-ALN-BLO-0250-132 5/8-11 Tapered Head Socket Screw, 2.5" 3.25oz (0.092kg)

MT-HW-BT-TPD-ALN-BLO-0300-132 5/8-11 Tapered Head Socket Screw, 3" 3.805oz (0.107kg)

MT-HW-BT-TPD-ALN-BLO-0100-128 1/2-13 Tapered Head Socket Screw, 1" 0.90oz (0.025kg)

MT-HW-BT-TPD-ALN-BLO-0125-128 1/2-13 Tapered Head Socket Screw, 1.25" 1.05oz (0.029kg)

MT-HW-BT-TPD-ALN-BLO-0150-128 1/2-13 Tapered Head Socket Screw, 1.5" 1.25oz (0.035kg)

MT-HW-BT-TPD-ALN-BLO-0175-128 1/2-13 Tapered Head Socket Screw, 1.75" 1.45oz (0.041kg)

MT-HW-BT-TPD-ALN-BLO-0200-128 1/2-13 Tapered Head Socket Screw, 2" 1.60oz (0.045kg)

MT-HW-BT-TPD-ALN-BLO-0250-128 1/2-13 Tapered Head Socket Screw, 2.5" 2.05oz (0.058kg)

MT-HW-BT-TPD-ALN-BLO-0300-128 1/2-13 Tapered Head Socket Screw, 3" 2.35oz (0.066kg)

MT-HW-P-RP-0200-0016-0109 Roll Pin 3.0oz (0.085kg)

MT-HW-P-CP-0448-0012-0110 Cotter Pin 3.0oz (0.085kg)

MT-HW-P-AS-0300-0100-0106 1” Pin (Usable length:  1”) 0.75lbs (0.34kg)

MT-HW-AC-132-0200 5/8-11 Hex Bolt, 2” Ammo Can 4.90lbs (2.22kg)

MT-HW-AC-132-0250 5/8-11 Hex Bolt, 2.5” Ammo Can 5.3lbs (2.40kg)

Misc. Hardware

MT-HW-BT-SHC-CUP-BLO-075-132 5/8-11 Cup Point Set Screw, 0.75” 0.65oz (0.018kg)

MT-HW-BT-SHC-CUP-BLO-075-128 1/2-13 Cup Point Set Screw, 0.75” 0.35oz (0.009kg)

Custom branding available

158



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL
Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Nut Bars

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12
Recommended Tools Tool Kit 1

3/4” Combination Wrench*
*Only For 1/2”-13 Nut Bars

For More Info www.ModTruss.com

Part #
Description

Size Weight Hole 
Size

Recommended
Hardware

MT-HW-NB-1050-0125-0050-000-132-04
4-Hole 5/8”-11 Nut Bar

1.25” x 10.5” x 0.5”
(31.75mm x 267.0mm x 12.70mm)

1.65lbs
(0.75kg)

5/8”-11
Threaded

5/8”-11 Thread Grade 8 Bolt,
1” Long
5/8” SAE Zinc-Plated Washer MT-HW-NB-0750-0125-0050-000-132-03

3-Hole 5/8”-11 Nut Bar
1.25” x 7.5” x 0.5”
(31.75mm x 190.50mm x 12.70mm)

1.20lbs
(0.54kg)

MT-HW-NB-0450-0125-0050-000-132-02
2-Hole 5/8”-11 Nut Bar

1.25” x 4.5” x 0.5”
(31.75mm x 114.30mm x 12.70mm)

0.70lbs
(0.32kg)

MT-HW-NB-0150-0125-0050-000-132-01
1-Hole 5/8”-11 Nut Bar

1.25” x 1.50” x 0.5”
(31.75mm x 38.10mm x 12.70mm)

0.20lbs
(0.09kg)

MT-HW-NB-1050-0125-0050-000-128-04
4-Hole 1/2”-13 Nut Bar

1.25” x 10.5” x 0.5”
(31.75mm x 267.0mm x 12.70mm)

1.75lbs
(0.79kg)

1/2”-13
Threaded

1/2”-13 Thread Grade 8 Bolt,
1” Long
1/2” SAE Zinc-Plated WasherMT-HW-NB-0750-0125-0050-000-128-03

3-Hole 1/2”-13 Nut Bar
1.25” x 7.5” x 0.5”
(31.75mm x 190.50mm x 12.70mm)

1.35lbs
(0.61kg)

MT-HW-NB-0450-0125-0050-000-128-02
2-Hole 1/2”-13 Nut Bar

1.25” x 4.5” x 0.5”
(31.75mm x 114.30mm x 12.70mm)

0.75lbs
(0.34kg)

MT-HW-NB-0150-0125-0050-000-128-01
1-Hole 1/2”-13 Nut Bar

1.25” x 1.50” x 0.5”
(31.75mm x 38.10mm x 12.70mm)

0.25lbs
(0.11kg)

MT-HW-NB-1050-0125-0050-000-XXX-04

MT-HW-NB-0750-0125-0050-000-XXX-03

MT-HW-NB-0450-0125-0050-000-XXX-02

MT-HW-NB-0150-0125-0050-000-XXX-01



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | HW Hardware

 
1.

25
31

.7
5

 

 
3.

00
76

.2
0

 

 
10

.5
0

26
6.

70
 

 
.7

5
19

.0
5

 

 
1.

25
31

.7
5

 

 
4.

50
11

4.
30

 

 
3.

00
76

.2
0

 
 

.7
5

19
.0

5
 

4 
HO

LE

2 
HO

LE

 
.5

0
12

.7
0

 

 
1.

25
31

.7
5

 

 
1.

25
31

.7
5

 

 
.5

0
12

.7
0

 

 
7.

50
19

0.
50

 

 
1.

25
31

.7
5

 

 
.7

5
19

.0
5

 
 

3.
00

76
.2

0
 

 
.5

0
12

.7
0

 

 
1.

25
31

.7
5

 

3 
HO

LE

 
1.

50
38

.1
0

 

 
.7

5
19

.0
5

 
 

.5
0

12
.7

0
 

 
1.

25
31

.7
5

 

1 
HO

LE

1/
2-

13
 Ta

pp
ed

 H
ol

e

4 
HO

LE
 1

/2
"-1

3

TH
RE

A
D

 S
IZE

HO
LE

 C
O

UN
T

PA
RT

 N
UM

BE
R

5/
8"

-1
1

4
M

T-
HW

-N
B-

10
50

-0
12

5-
00

50
-0

00
-1

32
-0

4

5/
8"

-1
1

3
M

T-
HW

-N
B-

07
50

-0
12

5-
00

50
-0

00
-1

32
-0

3

5/
8"

-1
1

2
M

T-
HW

-N
B-

04
50

-0
12

5-
00

50
-0

00
-1

32
-0

2

5/
8"

-1
1

1
M

T-
HW

-N
B-

01
50

-0
12

5-
00

50
-0

00
-1

32
-0

1

1/
2"

-1
3

4
M

T-
HW

-N
B-

10
50

-0
12

5-
00

50
-0

00
-1

28
-0

4

1/
2"

-1
3

3
M

T-
HW

-N
B-

07
50

-0
12

5-
00

50
-0

00
-1

28
-0

3

1/
2"

-1
3

2
M

T-
HW

-N
B-

04
50

-0
12

5-
00

50
-0

00
-1

28
-0

2

1/
2"

-1
3

1
M

T-
HW

-N
B-

01
50

-0
12

5-
00

50
-0

00
-1

28
-0

1

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-

HW
-N

B-
XX

XX
-0

12
5-

00
50

-0
00

-X
XX

-X
X

NU
T B

AR
SPR

EC
ISI

O
N 

LE
VE

L :
 M

ED
 - 

±.
06

  [
1.

59
]

BR
AC

KE
T [

 ] 
D

IM
EN

SIO
NS

 A
RE

 IN
 M

M

9/
10

/2
01

8

Product Number | MT-HW-NB-XXXX-0125-0050-000-XXX-XX

160



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL
Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Insert Nuts

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12
Size 1” x 1.5” x 0.5” (25.40mm x 38.10mm x 12.70mm)

Recommended Tools Tool Kit 1
3/4” Combination Wrench*
*Only For 1/2”-13 Insert Nut

For More Info www.ModTruss.com

Part #

Description

Weight Hole Size Recommended
Hardware

MT-HW-IN-0150-0100-0050-132-01
5/8”-11 Insert Nut

0.15lbs
(0.07kg)

5/8”-11
Threaded

5/8”-11 Thread Grade 8 Bolt, 1” Long   
5/8” SAE Zinc-Plated Washer 

MT-HW-IN-0150-0100-0050-128-01
1/2”-13 Insert Nut

0.15lbs
(0.07kg)

1/2”-13
Threaded

1/2”-13 Thread Grade 8 Bolt, 1” Long
1/2” SAE Zinc-Plated Washer

MT-HW-IN-0150-0100-0050-124-01
3/8”-16 Insert Nut

0.20lbs
(0.09kg)

3/8”-16
Threaded

3/8”-16 Thread Grade 8 Bolt, 1” Long   
3/8” SAE Zinc-Plated Washer

MT-HW-IN-0150-0100-0050-128-01 MT-HW-IN-0150-0100-0050-124-01

MT-HW-IN-0150-0100-0050-132-01



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | HW Hardware

 
1.

50
38

.1
0

 

 
1.

00
25

.4
0

 

5/
8-

11
 Ta

pp
ed

 H
ol

e

 
1.

50
38

.1
0

 

 
1.

00
25

.4
0

 

3/
8-

16
 Ta

pp
ed

 H
ol

e

 
1.

50
38

.1
0

 

 
1.

00
25

.4
0

 

1/
2-

13
 Ta

pp
ed

 H
ol

e

 
.5

0
12

.7
0

 

 
.1

3
3.

18
 X

 4
5.

0°

 
.5

0
12

.7
0

 

 
.1

3
3.

18
 X

 4
5.

0°

 
.5

0
12

.7
0

 

 
.1

3
3.

18
 X

 4
5.

0°

M
T-

HW
-IN

-0
15

0-
01

00
-0

05
0-

13
2-

01

M
T-

HW
-IN

-0
15

0-
01

00
-0

05
0-

12
8-

01

M
T-

HW
-IN

-0
15

0-
01

00
-0

05
0-

12
4-

01

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 V
1

PA
RT

 N
UM

BE
R:

M
T-

HW
-IN

-0
15

0-
01

00
-0

05
0-

XX
X-

01

IN
SE

RT
 N

UT
S

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

9/
10

/2
01

8

Product Number | MT-HW-IN-0150-0100-0050-000-XXX-01

162



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL
Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

3” Extrusion Blind Connector Assembly
Part Number | MT-HW-BC-03-03-AS

Components Included
Qty. 2 - MT-HW-BC-B-0308-002-132
Qty. 1 - MT-HW-BC-F-0308-003-132
Qty. 5 - MT-HW-SC-SHS-ALN-20-00-0108-132-0032

Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear

Available Finish(es) 10-12
Size 3.37" x 3.13” x 0.5” (85.7mm x 79.4mm x 12.70mm)

Weight 1.30lbs (0.59kg)
Hole Size 5/8”-11 Threaded

Recommended 
Hardware

N/A

Recommended Tools 6 Hex Key Wrench Cluster - MT-TK-HX-00-0-SAE
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | HW Hardware

2

1

3

 
3.

13
79

.4
 

 
3.

37
85

.7
 

 
.5

0
12

.7
 

 
.5

0
12

.7
 

 
1.

50
38

.1
 

 
2.

50
63

.5
 

 
3.

87
98

.4
 

 
1.

00
25

.4
 

ITE
M

 N
O

.
PA

RT
 N

UM
BE

R
D

ES
C

RI
PT

IO
N

Q
TY

.

1
M

T-
HW

-B
C

-B
-0

30
8-

00
2-

13
2

EX
TR

US
IO

N
 5

/8
-1

1 
TH

RE
A

D
 

BL
IN

D
 C

O
N

N
EC

TO
R 

(2
) 

FE
M

A
LE

 (1
) M

A
LE

2

2
M

T-
HW

-B
C

-F
-0

30
8-

00
3-

13
2

EX
TR

US
IO

N
 5

/8
-1

1 
TH

RE
A

D
 B

LIN
D

 
C

O
N

N
EC

TO
R 

(3
) F

EM
A

LE
1

3
M

T-
HW

-S
C

-S
HS

-A
LN

-2
0-

00
-0

10
8-

13
2-

00
32

SO
C

KE
T H

EA
D

 S
ET

 S
C

RE
W

 C
UP

 
PO

IN
T 5

/8
-1

1 
X 

1/
2 

LG
5

DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 N
R

PA
RT

 N
UM

BE
R:

M
T-

HW
-B

C
-0

3-
03

-A
S

3I
N.

 E
XT

RU
SIO

N 
BL

IN
D 

C
O

NN
EC

TO
R 

AS
SE

M
BL

Y

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

3/
8/

20
18

Product Number | MT-HW-BC-03-03-AS

164



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL
Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

5/8”-11 Swivel Hoist Ring (Female)
Part Number | MT-HW-NT-09-0109-128-0000-0000

Standard Material Steel
Standard Finish N/A

Available Finish(es) N/A
Size 5.38" x 3.5” (135.53mm x 88.9mm)

Weight 1.80lbs (0.82kg)
Hole Size 5/8”-11 Threaded

Recommended 
Hardware

Tapper Head Socket Cap 5/8”-11 Grade 8 Bolt, 2” Long

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | HW Hardware

 88
.9

3.
50

 

 50
.8

2.
00

 

 38
.1

1.
50

 

47
.6

3
1.

88

 13
6.

53
5.

38
 

TH
RE

A
D

ED
 5

/8
-1

1 DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 N
R

PA
RT

 N
UM

BE
R: M

T-
HW

-N
T-

09
-0

10
9-

12
8-

00
00

-0
00

0

5/
8-

11
 S

W
IV

EL
 H

O
IST

 R
IN

G
, 

FE
M

AL
EPR

EC
ISI

O
N 

LE
VE

L :
 M

ED
 - 

±.
06

  [
1.

59
]

BR
AC

KE
T [

 ] 
DI

M
EN

SIO
NS

 A
RE

 IN
 M

M

2/
6/

20
18

Product Number | MT-HW-NT-09-0109-128-0000-0000

166



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

5/8”-11 Swivel Hoist Ring (Male)
Part Number | MT-HW-BT-LHS-ALN-04-00-0109-128-0100

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Standard Material Steel
Standard Finish N/A

Available Finish(es) N/A
Size 6.38" x 3.5” (161.93mm x 88.9mm)

Weight 2.40lbs (1.08kg)
Hole Size N/A

Recommended 
Hardware

5/8”-11 Grade 8 Nylon Nut

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | HW Hardware

 88
.9

3.
50

 

 50
.8

2.
00

 

 55
.5

2.
19

 

47
.6

3
1.

88

 25
.4

1.
00

 

 16
1.

93
6.

38
 

5/
8-

11
 TH

RE
AD DE

SC
RI

PT
IO

N:

RE
VI

SIO
N:

 N
R

PA
RT

 N
UM

BE
R:

M
T-H

W
-B

T-L
HS

-A
LN

-0
4-

00
-0

10
9-

12
8-

01
00

5/
8-

11
 S

W
IV

EL
 H

O
IST

 R
IN

G
, M

AL
E

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

2/
6/

20
18

Product Number | MT-HW-BT-LHS-ALN-04-00-0109-128-0100

168



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

3/4”-10 Swivel Hoist Ring (Male)
Part Number | MT-HW-BT-LHS-ALN-06-00-0109-134-0100

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Standard Material Steel
Standard Finish N/A

Available Finish(es) N/A
Size 6.38" x 3.5” (161.93mm x 88.9mm)

Weight 2.50lbs (1.13kg)
Hole Size N/A

Recommended 
Hardware

3/4”-10 Grade 8 Nylon Nut

Recommended Tools Tool Kit 1
For More Info www.ModTruss.com



U.S. Patent No. 8,418,425 & other patents pending

TM

Series | HW Hardware

 
88

.9
3.

50
 

 
50

.8
2.

00
 

 
58

.8
2.

32
 

47
.6

3
1.

88

 
25

.4
1.

00
 

 
16

1.
93

6.
38

 

3/
4-

10
 TH

RE
A

D DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 N
R

PA
RT

 N
UM

BE
R:

M
T-

HW
-B

T-
LH

S-
AL

N-
06

-0
0-

01
09

-1
34

-0
10

0

3/
4-

10
 S

W
IV

EL
 H

O
IST

 R
IN

G
, M

AL
E

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

2/
6/

20
18

Product Number | MT-HW-BT-LHS-ALN-06-00-0109-134-0100

170



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL
Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Mag Mount 70
Part Number | MT-HW-MM-70 

Size | 94mm x 34mm x 17mm 

Standard Material Neodymium
Standard Finish N/A

Available Finish(es) N/A
Size N/A

Weight N/A
Hole Size M6-1 Thread

Recommended 
Hardware

N/A

Recommended Tools N/A
For More Info www.ModTruss.com

Cable Control Kit
Part Number | MT-HW-MM-070-0345-0121-0043



Mag Mount 1500
Part Number | MT-HW-MM-1500-N

Material  |  Neodynium Magnet and Steel

Benefits
-1,500lbs Pull Force
- Compatible with ModTruss Bolt Hole Pattern
- Semi Permanent

- Non-penetrating
- Non-destructive
- Fast and Efficient Without Having to Weld

For More Info  |  Contact ModTruss Inc. at info@ModTruss.com or Call (844) 663.8787

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

U.S. Patent No. 8,418,425 & other patents pending

TM
172



U.S. Patent No. 8,418,425 & other patents pending

TR

EX

PL

JH

PA

HG

MR

AC

HW

TK

MH

FH

GL

Part Number | MT-HW-MM-1500-W

Mag Mount 1500W

Material  |  Neodynium Magnet and Steel

Benefits
-1,500lbs Pull Force
- Compatible with ModTruss Bolt Hole Pattern
- Semi Permanent

- Non-penetrating
- Non-destructive
- Fast and Efficient Without Having to Weld

For More Info  |  Contact ModTruss Inc. at info@ModTruss.com or Call (844) 663.8787

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable



Mag Mount 3000
Part Number | MT-HW-MM-3000-W

Material  |  Neodynium Magnet and Steel

Benefits
- 3,000lbs Pull Force
- Compatible with ModTruss Bolt Hole Pattern
- Semi Permanent

- Non-penetrating
- Non-destructive
- Fast and Efficient Without Having to Weld

For More Info  |  Contact ModTruss Inc. at info@ModTruss.com or Call (844) 663.8787

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

U.S. Patent No. 8,418,425 & other patents pending

TM
174


	Tom sida



